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(11) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
1) EH$m narjm H|$ÐmV 60 {dÚmWu J{UVmMr narjm XoVmV, 36 {dÚmWu OrdemómMr narjm XoVmV Am{U 24 {dÚmWu

B{VhmgmMr narjm XoVmV. Oa EH$m ImobrV EH$M {df¶mMr narjm KoVm ¶oVo Am{U àË¶oH$ ImobrV {dÚmÏ¶mªMr g§»¶m

g‘mZ R>odm¶Mr Agob Va H$‘rV H$‘r {H$Vr Imoë¶m bmJVrb?

1) 20 2) 12 3) 10 4) 04
1) In an examination centre, 60 students were to write Mathematics test, 36 students were to write

Biology test and 24 students were to write History test. Find the minimum  number of rooms

required if in each room the same number of students are to be seated and in each room a test for

only one subject is to be conducted.

1) 20 2) 12 3) 10 4) 04

2) 16% A°{gS> Agboë¶m 50 {bQ>a ÐmdUmV {H$Vr {bQ>a nmUr AmoVmdo åhUOo ZdrZ ÐmdUmVrb A°{gS>Mo à‘mUo 10%

hmoB©b?

1) 15 2) 20 3) 30 4) 25
2) How many liters of water should be added to 50 liters of a 16% acid solution so that new solution

becomes 10% acid ?

1) 15 2) 20 3) 30 4) 25
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